3,5¢cc

S, £ S, o
2 2 g 2 5
2 2 g g ks
3 3 2. 3 o 2 2
Namn = 3 i = g % %
Torgny Lindkvist 40 36 33 38 32 114 1
Anthony L6fqvist 34 29 39 32 0 95 2
Ove Hermans 26 0 0 29 36 55 3
Hugo Woldt 20 0 23 17 0 37 4
7,5¢cc
S, £ S, o
2 2 g 2 5
kS 2 2 g 3
3 3 2. 3 o 2 2
Namn — 3 i — S % %
Torgny Lindkvist 32 33 40 36 36 177 1
Cissi Sparr 27 34 34 20 0 115 2
Anthony Lofqvist 41 21 17 24 0 103 3
Mattias Bengtssol 0 0 27 33 0 60 4
Per-Erik Dahlin 0 0 0 23 30 53 5
Ove Hermans 17 0 0 13 0 30 6
Daniel Kallstenius 0 0 0 0 27 27 7
Hugo Woldt 18 0 0 0 0 18 8




15cc

S, £ S, o

23 2 28 2 2

S 2 2 S ks

8 3 0, ) . 2 e
Namn = 3 i = S % %
Niklas Sparr 13 35 35 37 35 155 1
Magnus Molander 27 26 35 15 24 127 2
Torgny Lindkvist 35 28 18 19 21 121 3
John Lander 21 27 21 20 20 109 4
Stefan Oberg 0 31 20 26 26 103 5
Anthony Loéfqvist 18 15 20 17 13 83 6
Henrik Séderlund 34 0 0 27 0 61 7
Ove Hermans 13 0 0 0 0 13 8
26cc Zenoah

5 T g

> o) <

23 2 28 c 5

S 2 e S ks

B 3 2, B o n G
Namn = 3 i = S % %
Mikael Gartne 34 31 0 37 34 99 1
Mattias Bengtssor 31 37 0 23 0 68 2
Magnus Molande 19 0 0 34 28 47 3
Bosse Ankerstedt 34 0 0 0 0 34 4
Daniel Kallstenius 0 0 0 0 29 29 5




27cc

S, £ S, o
5 E % 2 g
S 2 2 S ks
8 3 0, ) . 2 e
Namn = 3 o = S % %
Per Wahlander 33 34 32 19 23 141 1
Magnus Molander 31 31 28 19 32 141 1
Cissi Sparr 21 26 21 30 0 98 3
Bosse Ankerstedt 26 23 0 18 14 81 4
Niklas Sparr 24 17 0 16 16 73 5
Lelle Oberg 0 15 26 26 0 67 6
Goran Hillman 0 0 0 33 29 62 7
Mikael Ankerstedt 0 32 0 0 0 32 8
Mattias Bengtssol 0 0 31 0 0 31 9
Daniel Kallstenius 0 0 0 0 21 21 10
35/50cc
S, £ S, o
2 E 2 2 2
2 3 g g 8
3 3 2. 3 o 2 2
Namn = 3 i = g % %
Per Wahlander 40 35 32 26 29 101 1
Anthony L6fqvist 25 20 0 30 0 75 2
John Lander 18 37 29 18 22 73 3
Henrik Séderlund 35 0 0 37 0 72 4
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